Exercise 2.3.1. Let x,, > 0 for all n € N.

\

(a) If (z,,) — 0, show that (\/z,) — 0.
(b) If (z,,) = x, show that (\/z,) = .
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Exercise 2.3.6. Consider the sequence given by b, = n — vn? 4 2n. Taking
(1/n) =+ 0 as given, and using both the Algebraic Limit Theorem and the result
in Exercise 2.3.1, show lim b,, exists and find the value of the limit.
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Exercise 2.3.7. Give an example of each of the following, or state that such a
request is impossible by referencing the proper theorem(s):

(a) >a-(||||-1|:~c»_\ (r,,) and (y, ), which both diverge, but whose sum (x,, + v,)
converg

h) equend ( « ) and (y,, ). where (x,,) converges, (y,, ) diverges, and (z,, +u,, )
onverg
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